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1. e e SO Fasvarard sersten @ siean, adie snf ) afoy T anfer = @ fren
WIS T, § IFETO W, " ufwr arardia @ dorg wred B, afeer @ steen dorg
Yoo WIATEIS! J1& a0 ST fisharen Quarg e arn Qe o AT ATegeEre are A, ST
JN w1 T T T T R wies aieh gaman wrasten sidar s ey frea. gerar aF
Gy
(2) 9
(3) STl
(4) 7 BT TR NTATAT T A1 gRoft 7.
Two pairs of siblings, Sahil and his sister Nuri and Nancy and her brother Pannu, played chess to
decide the best among all of them. The two players were siblings in the first game only. After 15
game, loser was eliminated; winner played the next game and so on. Thus only three games were

played. Nuri and her I:_:rﬂther won more number of games than other pair of siblings. The boys won
two games whereas girls won only one. Select the person who did not lose the game.

(1) Sahil .
(2) Pannu
(3) Nancy

(4) Data is not sufficient for finding person who did not lose any game.

2. T faid o@d ax S fasronan g T J g 99T Stal, 19i S foehrl Areid @i s fSah ol
q gl HAE AAT TEdl, A HIOT WU A1 fSwronsh wrem Wi gdtagE 9iwd ane. el
(STEAT) HISAT S &I &Y 3dh UHo S8 &I 0l Wa:dl o (T&) SE@vn el Il @il a0drd
sy oY AdY. e HErar e 41 ST al Teedl 9ur J arat 9 9idd dEdr. 9 e =
@ BT A1 AT Yed | BEEl Al Fedl, | Hl aar gadl ST &l Sqedrdr Sarstt
SEATEAT GATYHO 57 3% T8 HEl Seod. S s Sa7 STITd @il W g HIedieh TEarat
Iy HIGGT NATEET AT G araell, 1 Wied |l Sl Tl deedl 9l Jell Hield Heare s grel

JAT THEl Y &g STHUNT ATl -
o gfte faem arge gidears qfiesarean ST qaid Sfad 9o BIen s st
(1) o= T g L(3)  sifawEHE (4) oTEd

There are not many places that I find it more agreeable to revisit when in an idle mood, than some
places to which I have never been. For my acquaintance with those spots is of such long standing,
and has ripened into an intimacy of so affectionate a nature, that I take a particular interest in
assuring myself that are unchanged. I never was in Robinson Crusoe’s Island, yet I frequently return
there. 1 was never in the robbers’ cave, where Gil Blas lived, but I often go back there and find the
trap-door just as heavy to raise as it used to be. I'was never in Don Quixote’s study, where he read
his books of chivalry until he rose and hacked at imaginary giants, yet you couldn’t move a book in

it without my knowledge.
Reading is stopped after only first statement of the paragraph then select most appropriate word

that describes its content. |
(1) Humorous (2) Paradoxical (3) Unbelievable (4) False
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| Jaya and Kim are two parachutist jump from the plane at an altitude of one unit. Th?;ﬁ?rzzcgzﬁi
‘ opened immediately. Jaya is coming down at the speed of 10 units per hr and Kim Is

three times slower than Jaya. Select the option that indicates the time of landing by l:(im after Jaya.

| (1) 3 minutes (2) 6 minutes (3) 9 minutes (4) 12 minutes

I 4. ST ATl HRATAATGS S . A wEYES 15 et e Fax 10 fedt afyedee @l daldr
<ROE g 5 el . G g @t 8 R afert O Y. S @ Sordis ot 10 e
T el |

URiYe T amar @ fRdl @ 9 S Riden ofke ?
/A%/z%ﬁ’r,trféafr (2 S5t o (3) 6 fepuY, gfequr (4) 7 fdr, STx

Johnson left for his office in his car. He drove 15 km towards north and then 10 km towards west.
He then turned to the south and covered 5 km. Further, he turned to the east and moved 8 km.
Finally, he turned right and drove 10 km.

How far and in which direction is he from his starting point ?

(1) 2 km, West (2) 5 km, East (3) 6 km, South (4) 7 km, North

5. J9 f=py fraer =
| faue - A
HTEl UG UIE=T SR, I Il Ok oid. |9 ar 2ravar . |
ey j
(a) @R VAT G SN )@) el AT TdT 3T, |
(c) Tahel A1 9T ATl v(ﬂ')/"cﬁré”rquaaﬁa |
qqral wal
(1) & (a) 9 (d) - X2) wE (b) T (d)
(3) & (0) 7 ()X 7w (@), (@) T () B @), (o) T ()

Select valid conclusions.
True statements :

Some kites are steps. Some steps are stars. All the stars are pins.
Conclusions :

e Sl O ot TRl i il ol . s i WS m s

(a) Some pi_ns are steps, (b)  Some stars are kites.
(c) No Stif is kite. (d) Some steps are kites.
Answer options .
(1) Only (a) and (d) (2)  Only (b) and (d)
(3) Only (b) and (c) (4 Only (a), (d) and (b) or (a), (d) and (©)
PACE FOR ROUGH WORK 6O 1o |
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6. 9@ WTUATl Sl FraR TR o, ‘RIS  STaTqd e JoeAt diedr | ST
UIRAT HEATHEAT o5l Fry ey Prasar. qreren e 3w froser””.

(1) 8:36 %9:35 i3f 9:38 . (4) 10:38
When requested for tin€ the person said, “If you add one quarter of time from midnight till now to

half the time from now till next midnight, you get the present time”.
Select the time that person is describing.

(1) 8:36 (2) 9:36 (3) 9:38 (4) 10:38
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7. AETq@OET 36 ATET THI SIS T Beiell oid.  Ufded] IR Uh Gel, JEAT HIAAT & B, o
forer=am I I HEH ...... 319 T arey oY haell e, f
sirebreaT gET STeAt WA RRdY whed emmeq ¥ given ? <
(1) 14 (2) 15 (3) 16 (4) 17 %
36 vehicles are parked in a parking lot in a single row. After the first car, there is one scooter, after <
the second car, there are two scooters. After the third car, there are three scooters and so on. <
5
S
K
5
B
BY
K
>
)
S
=y
S
5

Work out the number of scooters in the second half of the row.
_ PR
(1) 14 15 (3) 16 (4) 17

8. TSl SRl g & ITUgTeAT PYSOIR TUiER 5: 1 SR, ATd 5 Wi UIv Hre a¥ & YO 512 o
B, a1 e U™ el e <

(1) 15 /czf 25 . (3) 20 (4) 10 . S

A mixture for making tea contains milk and water in the ratio 5: 1. On adding 5 liters of water the
ratio of milk and water became 5 : 2. Select the quantity of milk in this mixture.

(1) 151t (2) 251t (3) 20 lit. (4) 10 It

9. oreTSAT G FTHET WHAR o ATt <X Raeht A aEsheErd Fcr. s fewmmi -4 Har
S 120 RpHY ST HUG. TR STSASATHAT ATAT e 9000 el Farq Figaell. T TR SSTSATAT

reaeite HTETET ST HeredT FaRTeERia A e yard e vat fras.

(1) 1600 (2) 1400 (3) 1800 (4) 1200

Nanu drives/rides bike every day from Monday through Friday except weekend. He covers distance
120 km while travelling to and from work place. After twelve weeks his vehicle recorded 9000 km j
travel. Select number that indicates the distance travelled by Nanu apart from his ride to and from

work during twelve weeks.

(1) 1600 (2) 1400 \)37/ 1800 (4) 1200
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10. e ot oo Sreire Y vt sl Rrerer ware n & Safifs wEr o,

K@ sn-1 ﬂ 5n + 1 ‘}c/ 8n +1 JE”/ 3n+31

TqEN T

@) ¥ A wwh (3) W (a) MR (b) (4) HH ()
Select expressions that will never be perfect square where n is a natural number.

8] an=1 (b) 5n+1 () 8n+1 (d) 3n+1
Answer options :

(1) Al (2) None (3) Only (@) and (b) (4) Only (c)

1l1.

TRl < Y TR T o, T A Ao W e T ST e SR S

fegam. A ST ST Bl et 9o e e avaty/a, gREn orat/AEo, T FRIg STty
THY I el ST, BTSN s Sl sraen @, g, averearar ATy FE, TREEH AET I 5E
THAL. T T BVATEISN A9 BT oI ST STEITHAT ST,

T Y RUSH T B o) qe oy, Hifed! T, T ATaY TG AT 969 NEH amaEr
AT BT GeHTAT ST, AD @ B o Tt SoT o W T SRR

oS, W9 IR T T GBI BIR G Rage Rl e orard e B wm
AMETATSAT FEAIT G ST 31 Bl Fer ey =),

ﬁ?ﬁwwdzmrﬁﬁwmwﬁﬁﬁﬁwuﬁm@%ﬁﬁmmqﬂhﬁaa
(1) [

TS AR
%@hﬁamwwmwmm%w,
(3) oMY ferwwen @ Hevaran vat gaaa.

(4) T geifaa ere e THIT ST oTR.

Ditee : We can see that many persons progress econo
augmenting his or her market value. This means that
capable or not, intellectually efficient/diligent or not. E
his or her intellect, skills diligently he or she can over
governance in the country for making this possible.

Heli : There is some truth in whatever you say. Young generation acquired jobs with salaries of lakhs
of rupees in information technology and computer based industries. With this they did promote
themselves from lower to higher economic strata. But I don't see that society is trying to get

explanation as to what should be the discrepancy between remuneration of software technologist
and cleaning worker.

Choose the appropriate option that describes a
and comment.

(1) It is irrelevant,

(2) It suggests that there should be no difference between remun
and cleaning worker.

(3) It suggests alternative course of action fmﬁr reducing economic i

(4) Brings forward an aspect neglected by Ditee.

mically by acquiring some capacities and by
inequality is rooted in whether persons are
ven if anyone is born with poverty, by using
come it. It is necessary to have democratic

ppropriately Heli's response to Ditee's observation

eration of software technologist

nequality,
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12. Wwwﬁwaﬂﬁ@wm. WWWWWWW;
anfoT T S ST SIS agreat umhqdaier . qﬁﬁwwﬁﬁmwaﬁaﬁﬁaﬂ%m%

(1) 4oad (2) 48 9 (3) 549 (4y” 60 a4

In a family a couple has a son and a daughter. The age of the father is four times that of his
daughter and the age of the son is one third of that of his mother. The wife is 4 years younger to her
husband and the brother is 4 years older than his sister. What is the age of the mother ?

(1) 40 years (2) 48 years (3) 54 years (4) 60 years

13. A BT THPRRT SR af favg amagur=n Rensaf g qraadl . ggoﬁmwﬁ’ra.

qrEUTl HET &SPl TA hell 3L -—__%—%—

CIPENItE 2 T
927

o S e s srgurn REmeaty it fiva T srasurn feneisll sree o B ?

1 4
@ = & 5 @ >

wlN

The labelled shapes in the ven diagram shows number of students who like that subject. The diagram
is prepared on the basis of survey of 500 students.

B

What is. the ratio of the students who like all the three subjects to those who do not like
mathematics ? '

Chemistry

Mathematics

6 1
wm = 2 3 @ 3 7l
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14. - B8 e e e v e b 1 WA B € G T
(‘1{}1 X B qUTh 7 Y& WIS e weAm o ¥ (x2— 1) * - W8 oA~
S B 6 T 9T TR &) g B
6 <R A 24 % v st :
N A8 eI 6 Y Wi W anfr et 12 3 T S Rar 0T SO ATl
4y %@alﬁmmﬁmzﬁmﬁawaﬁﬁﬁﬂwmﬁ i
If any positive integer is not divisible by any positive integer other than itself and one it is said to be
a prime number,
Let x be the prime number greater than 7, then (x2—1) is
(1) never divisible by 6
(2) always divisible by 24
(3) always divisible by 6, and may or may not be divisible by 12
(4)  always divisible by 12 and may or may not be divisible by 24
15. M Qg1 qol fobell an werawia fidean géia T qaon fifdr &,
fa=t [am - B
() e waﬁmemamw,ﬁmﬁﬂ%ﬁqufgmﬁi
(b) K T 1q, ST, T J = A 37Tz, > OIS |
yr)/(a} q (b) T STagad g JLal .
(2) W (a) G oTTR. | @
_ (3) W (a) b (b) QST M.
(4) % (b) gRer TR,
Decide sufficiency of data with respect to question : How many children does M have ?
Data statements :
(@) Mis the only one son of his parents and is the husband of J who has twin daughters.
(b) K has a grandson and she is the mother-in-law of J.
Answer options :
(1) Both (a) and (b) are necessary and sufficient.
(2) (a) alone is sufficient.
(3) Either (a) or (b) is sufficient.
(4) (b) alone is sufficient.
16. SO 2011 YHTOT @R fofearman Si-gow TarvT aX foelt e ?
(1) 700 t 800 T k2] 800 T 900 TR
(3) 900 d 1000 TR (4)  aleder ey
What was the sex ratio of Nandurbar district as per the Census 2011 ?
(1) Between 700 to 800 (2) Between 800 to 900
(3) Between 900 to 1000 (4) None of the above

<A1 FTETEre AT / SPACE FOR ROUGH WORK
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17. FERISITIIA 0o 9 8 i e somd)y v werey (MHADA) 1 Sgard 3Tell 7
(1) ST 1975 (2) w=ard 1985 (3) fsdax 1957 /(,aa/ fedax 1977
Mt—iADA an institute in Maharashtra which developes slums and houses when has it come into
existence ?
(1) June1975 (2) January 1985 (3) December 1957 (4) December 1977

18. WERTSZ SATe WTevly aredTel 2019-20 JaR TodT 2018-19 ATl T wiiifers ammienl fhei 29 &t
TATETE! Bl ¢
4 2010 (2) 18.40 (3) 17.90 4) 1413

According to Maharashtra Economic Survey Report 2019-20 what percentage of the total
geographical area in the State was under forest in 2018-19 ?

(1) 2010 (2) 18.40 (3) 17.90 (4): <1413

19. SIOMT 2001 WHTY WIede! HioreT Rieamel diesen gval 200 &r HHI Bl ?

741) BIESS xz{ NIGEL ( BTG (4 IS
As per the Census 2001 which of the following districts has less than 200 population density ?
(1) Nanded (2) Jalna (3) Ahmednagar (4) Yavatmal

20. I GITEHT fasma Ricemdr e st &re ?

(1) 9o fqumm & (2) QR fewm 6

(3) IRl forHmET - \w/ Arcmere fowm &

Which Administrative Division consists more number of districts ?

(1) Pune Division (2) Nagpur Division

(3) Konkan Division (4) Aurangabad Division

Tere o T HerHse Haiied ol ¥l LEEIR]

(1) 1982 (2) 1979 3y 1984 (4) 1974
Forest Development Corporation of Maharashtra limited was established in

(1) 1982 (2 1979 (3) 1984 (4) 1974

22. G T B 5 HHIS W HEHI e @ ¢

(1) fame @ dwaeh @) S@EE (g o
Which of the following is not important regarding manganese mining area in Maharashtra ?
(1) Chikla (2) Sita Saongi (3) Dongri Buzurg (4) Warora-Vaitarna

F=A1 FTHETS AT / SPACE FOR ROUGH WORK e P.T.O.
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TS T

(@) Tt i} 2021

(b) i) 2020

(€) HIM. {iii) 2009

(d) =X . (iv) 2019

@ Y

(@ (b) (¢) (d)
@) @ G Gy (v
(i) (i) (v) ()
() (@) i) (v)

.7&7‘ () i) (v) (i)
M

atch the following :

Cyclone Year
(@) Nisarga (i) 2021
(b) Tauktae (i) 2020
() Phyan (ili) 2009
(d) Kyarr (iv) 2019

Answer options :

(@) (b) (c) (d)
1) @ i) Gii) (v)
(2) i) (i) (iv) " ()
(3) () () (i) (v

(4) (ii) () (iv) () -32?:@}(\ i

(1) ofurd (2) T 3 i AR
: :
ylf?rchAi; thhe_fnllnwmg Sanctuary/National Park is large in Geographical a(:a)a ?
ari (2) Tansa (3) Chandolj (4) lNagzira
25. mﬁwmmwﬁﬁmwm?
(a) @TguI (b) feawar ()  e3R d
i (d) EFR

1) @R ® (2 b e (Q 26) (©) T (q)
d

Which of the following are the right bank tribufaries of ¢
/ of ri
(a) Katepurna (b) Biswa (c) Verhuma, 7
Answer options :
(1) (a) and (b) (2)  (b) and (c) (3)

(‘9/ (@), (b) smfer (g

Bhuleshwar (d) Shahanuyr

(¢) and (d) (4)

@), (b) and (¢)
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26. HIE TS &1 TUETE SR Teiee wiereTa WEATIH WL BT HRTE A 7
(1) HEwT HA _ (2) HHNT WrEHTE A
ﬁ/mm“ﬁi‘ E”‘?‘Eﬁ_{ (4) rRieaaATEl
Who was the Educational Inspector of Bombay Presidency and a Professor in Elphinstone College ?
(1) Mahatma Phule (2) Karmaveer Bhaurao Patil

(3) Balashastri Jambhekar (4) Lokahitawadi

e —

27. YEA HEATEl ATSAT BIATIHY A& HT -
(a) TR Y HIATT TEIH ITAT IR gTRpeaT=rear JrToiEr S el
(b) SIS T =Y. Hede SHATT TicaT SETATETN Al AobId UIb=dl Bl HAiSal.
(c) WHEEX ST af+ it gRemie ArTeaErd! 9T g8 Jisd.
(d) U STATEET Yoo T TR GauH A, A aw gEiH Wi 9 e LT qradr.
@ Sax
(1) (b), (@), (9), (d) (2) (o), (@), (b), (d) (3) (a), (b), (©), (d) y/ (9, (b), (@), (d)

Arrange the following events in their chronological order.
(a) In the Muslim League session at Lahore, resolution was passed for demand of Pakistan.

(b) Under the Presidentship of Dr. Mohamad Igbal at Allahabad the concept of Pakistan was put
forth.

(c) Barrister Jinna placed fourteen points for Muslim Demands.

(d) Muslim League observed mourning day when Pandit Jawaharlal Nehru took charge as Prime
Minister of caretaker Government.

Answer options :

(1) (b), (a), (9. (d) (2) (o). (@, (b). (d) (3) (a, (b), (9, (d) (4) (o). (b), (d) (d)

HITYR TATIRAh AT TSEEAST Safaram™ i AhTT T
Kl) HITREE MME A(2) qEERE WS
3y A s ) g 3T
refused to lower the National Flag on the Solapur Municipal Council building.
(1) Manikchand Shah (2) Dadasaheb Khaparde
(3) Soman Deshpande (4) Shankarrao Deo

29. ST STHISIS AT BT RFAeRTT LT dEd ST ?

(1) HerrsZ™ S (3) Y™ (4) Preom
Jagannath Shankarsheth is known as the founding father of _
(1) Maharashtra (2) Mumbai (3) Railway (4).  Education
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30. ST ey

(a) A 3w ) ()  {feeper SHihied Tl O

(b) W I T iy & et s

(c) R Mg Aq (ifi)  eTmaeEY (AITUC) Tfeel aread

(d) WdsY 1Y (v) B et e FeEy T

T W

(1) (ﬂ)'(ii)f (b]-qii); (©)-(1), (d)-(iv) A)2’/(?:‘)*(10: (b)-(iii), (c)-(iv), (d)-(i)

() @)-(0), (b)-Gii), (0)-iv), (d)-(ii (4)  (a)-(), (b)-(iii), (c)-(ii), (d)-(iv)

Match the following :

(Z) Shripac{ Amrut‘ Dange (i)  Establishment of Radical Democratic Party

(b) Lala Lajpat Rai (if)  The Socialist magazine

(c) Acharya Narendra Dev (ili)  First President of All India Trade Union

Congress (AITUC)

d "
(d) Manvendranath Roy (v) Important leader of Congress Socialist Party

Answer options :

(1) @), (b)-(iii), (c)-(i), (d)-(iv) (2)

(a)-(ii), (b)-(iii), (0)-(iv), (d)-(i
B) (@G, O, (©-(v), @G - ), (b)-(iii), (c)-(iv), (d)-(i)

(@)-(), (b)-(i), (c)-(ii), (d)-(iv)

31. ﬁﬁwaﬂmﬁr‘ﬁmﬁrwwmmmwmm?

(1) 918 wenH REIEIRTEId ) "l fo@s | (4) s Hard

By-what ;?seudunym did Dinkarrao Jawalkar write in the newspaper ‘Vijayi Maratha’ ?
(1) Bhai Mahajan (2) Bhavani Talware (3) Malhari Dikhale (4) Dalit Kaivari

32. T8V WIS Y& IO WG Hely ?

(1) W T ﬂ)/ fa. R

(3) et wds foww (4) BT T 4
Who founded the Young Maratha Party ?

(1)  Pandurang Rajbhoj (2) VR Shinde

(3) Malhari Martand Dikhale (4)  Keshavrao Marutirao Jagh .

33, g TR A T S SR o Al e
(1) wea feod  (2) 8 Tl M‘TWII'IE@HW( (4)

Who called Vishnubuva Brahmachari ‘The first exponent of Communism’ ?
(1) Lokmanya Tilak (2) SaneGuruji  (3)  GT. Madkholkar

9. TR

4)  MG. Ranade
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34. Nation =N UHTT W’ S1el = &l FHelr ?
(1) TNl SR HERT 'S
HETHT ST J21/ o
(3) | _ N (4) of. grETaRd eTfasel
Who defined Nation as a 'Unified People’ ?
(1) Rajarshi Shaht{ Maharaj (2) Dyangiri Buva
(3) Mahatma Jyotiba Phule (4) Dr. Babasaheb Ambedkar
35. ITE A BB Toase Tqd & B
(1) Si. g (2) SOHE U
ﬁ{ AU THIGT FTEIHT (4) fremae TEET Qe
was the leader of the revolutionary activities at Nashik.
(1) Dr. Munje (2) Uttamrao Patil
(3) Ganesh Damodar Savarkar (4) Vinayak Damodar Savarkar

36. SreT 2021 WEY e Ry uRwdY uRie howar MRdga qerrg frue aReed e s
HIUTAT (ST G&ThS 3Ted ¢

(1) AR B 98 g7 (2 W T B
3) Rraa B By el St ot &

Which political party has largest number of seat in Maharashtra Legislative Council according to
the information published by Maharashtra Legislative Council in November 2021 ?

(1) Nationalist Congress Party (2) Indian National Congress
(3) Shivsena (4) Bharatiya Janata Party

37, BEFEEEER Ard HH @ — (TR JETH) |

(a) T g \>%) | (b) Rramita FETwT
(c) TEaUd ARH _ (d) STETERE WE
gy S

@@ @0 @ 0@ @ @) d6 X @) (d), (b), ()

Arrange in a appropriate order according to ténure (Chief Ministers of Maharashtra) :
(a) A.R. Antulay (b) Shivajirao Nilangekar
(c) Vasantrao Naik (d) Babasaheb Bhosale

Answer options :

(1) (c), (a), (d), (b) (2) (o), (d), (b), (a) (3) (a) (c), (d), (b) (4) (a), (d), (b), (c)
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38. WIS Brorn T Sagria wdar et dme Taton aardmed dad HIAn o ?

(a) Ve (b) sreurE w9 v

() wMar ~~ (d) Tagam .

T S

(1) % (a), (b) (2) W (b), (), (d) Laa/ wed (a) (b), (@ (4) WK (0) (d)
Which are the states of India promoted from the category of Union Territory into that of a State ?
(@) Mizoram (b) Arunachal Pradesh

(c) Goa (d)  Sikkim

Answer options :

(1) Only (a), (b) (2) Only (b), (¢), (d) (3) Only (), (b), (c) (4) Only(c) (d)

39. A HYH NDET
(a) ‘RreY zad off% afvifes Siad 39 HeRTg’ & UY Feraaird aeerr gl fererer.

Aoy werrsgre frer qftweEr e fo 20 g o @
WWWWWWDWW.
(d) werrezre fqum aftuee Mgt HE 10 §EE Tael o
@ S
% (b), (0 W (O (@) B W (@), (), (0 @ WO O.@

Select the correct statéments :
(a) ‘Fifty Years of Legislative Council in Maharashtra’ was written by Yashvantrao Chavan.

(b) Establishment day of Legislative Council of Maharashtra is 20 July.
(c) 12 members are nominated by Governor in Legislative Council of Maharashtra.
(d) The Quorum for Legislative Council of Maharashtra is 10 members.

Answer options :

(1) Only (b), (c) (2) Only (), (d) (3) Only (a), (b), () (4) Only (b), (c), (d)
40. - @TAAIE PO SIS drafier geeel el ?
(1) FaYd & ikl V;/
(2) TEdrerd feaew ae _ q-V 1
(3) T S - T
el ATel
Which of the following pair is not correctly matchic; ri_w .
Fundamental Duties | :
- Directive Principles of State Policy - Part-IV
((g Fundamental Rights Ipartl
(4) Non€ of theseé

__.-——-_-_._-..—l-.__
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hg—d WY

/g/ wed (a) 2w (b) (3) (a) amfer (b) (4) ol ad

The Sarkaria Commission is related to which of the following ?
(a) Centre and State Relations

(b) Election Reforms

(c) Banking and Finance Sector
Select correct option from above :
(1) Only (a) (2) Only (b) (3) (a) and (b) (4) All the above

v T BT ST . S s e ST o ?
)ﬂ/ﬁmﬁaﬁm,w%

/(ba qTged N BIET, 1961

);X TS I &eT, 1988
)ﬁ/wﬁ%ﬁwwmaﬁrﬁw,zmﬁ
@ I

(1) (a), (b), (d) 2) (), (), (d) (3) (b) (c), (@) ,64)/ CEUGRSE

Which of the following are examples of implementation of Directive Principles of State Policy ?

(a) The Minimum Wages Act, 1948
(b) The Maternity Benefit Act, 1961

(c) The National Forest Policy, 1988
(d) Mahatma Gandhi National Rural Employment Guarantee Program, 2006

Answer options :

1) @, o), @ @ @ @) " i, 18): ¢ (B)(e)ield) (4) Al of the above
@ e et At

Jk)/ L GRCIREIRS

(2) BN BN

Right to information is
(1) Fundamental Right

(2) Legal Right _ |

(3) Neither fundamental right nor legal rlgh'E

(4) Both fundamental right as well as legal right

.
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44. TIEIAYD! BV TG T Tean Afie/e) o ?
/“(a) ST STRTYGN 5] wvraTr FEee
?@) et e 7 B G ET
@iy fraer

E BYJU'S

(1) &K (a) (y/ (b) anfr (d) (3) (b), (c), (d) (4) a0 &

Which of the following is/are the salient feature(s) of the Indian Constitution ?

(@) Presidential form of Government (b) Dominant Central Government

(c)  Dual Judiciary (d) Bicameral Legislature
Select correct options :

(1) Only (a) (2) (b) and (d) (3) (b), (c), (d) (4) All the above

45. Geliwde! B/ T e/ Te ?
Mwm,mwm&mﬁamm.

-;@ St Prarsvrer I8 s ewamierET a9 wer

%Wﬁwaﬁﬁm%ﬁamﬁﬁw%ww.

Which of the following is/are not a Fundamental Duty/s ?

(@) To uphn!d and protect the sovereignty, unity and integrity of India
(b) To exercise our universal adult franchise at th ‘
(c) To value and Preserve rich heritage of our co
Answer options :

(1) Only (a) and (b) (2) Only (b) (3)

e time of general elections.
mposite culture.

Only (b) and () (4)

R
(1) & (a) 30T (b) ﬂ'/‘lh_cﬁ(b) (3) W (b) T () (4) e (a) MO ()

Only (a) and (¢

(1) 24TM@ 1994  (2) 24 R 1995 (3) 24 ufyre 1993 ﬁ)/ 1 ufie 1992

73" Constitutional Amendment was approved on
(1)  24™ April 1994 (2) 24t April 1995 (3)

24 April 1993 (4

15t April 199>

47. WiqaEme I BT TR S e el o

(3) fIeer wifers aften @) R o
The Constitution provides for setting up of T Wity

district as a whole. strict and th

(1) District Social and Economic Review (2)
(3) District Statistical Committees (4)

€N prepare a gr

idate the plans
aft plan for the

=T FTATETE! AT / SPACE FOR ROUGH WORK

A

(% scanned with OKEN Scanner



www.bvyjusexamprep.com E BYJU'S

48. Wi WUATHIST il e Saman’ ¥ @i S gRmem e 3 ?
A7 R g whme (2) ged gl Fhr
(3) Wi WiRMm (4) e argerd SiaHe _
To ;ailse the 'Material as well as cultural level’ is the main objective of which of the following
moael ?
(1) Gandhi model of growth (2) Nehru model of growth
(3) Privatization model (4) Acharya Agrawal model

49. NITI SR YU &Y i

(1) National Institute for Transmitting India
(2) tional Institute for Transforming India
‘L}))N:tiﬂna Institution for Transforming India

(4) TO@YD! BIUTE AT

Full form of NITI AAYOG is ,

(1) National Institute for Transmitting India
(2) National Institute for Transforming India

(3) National Institution for Transforming India
(4) None of the above

50. WAIde! BV STTe arad Teisl e o ?
(1) oTgee 324 Jpzj/aaféﬁ 243 (3) o 124 (4) ST 356

Which of the following Article is related to Panchayati Raj ? |
(1) Article 324 (2) Article 243 (3) Article 124 (4) Article 356

51. 74 =7 U GERIGER 90 GXHITAT IR 19 ATA9ah HIUA Al ¢
(a) el I TITAT
(b) fareqoTrET FHA
(c) Toreer e I T
(d) foeer Fraem FHCMT T
g S ¢
(1) (a) B r1><<2) (b) T (c) \/3( (d) e ) AN T

Which thing was essential for State Government according to 74t Constitutional Amendment ?
(a) Establishment of Taluka Committee

(b) Right to Education
(c) Establishment of District Development Committee

(d) Establishment of District Planning Committee

Answer options :
(1) (a) Only (2) (b) and (c) (3) (d) Only (4) Al above
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- ‘ sy ; 4) 2012 - 2017 .
(1) 1997 - 2002 2002 - 2007 (3) 2007 - 2012 (4)
Which of the followings the duration of 10t Five Year Plan ? 125
(1) 1997 - 2002 (2) 2002 - 2007 (3) 2007 - 2012 (4)
>3. 2004-05 AT {HHTAR 2010-11 e freares T SeATeHTd geirdes @=mdT drel I B,
,9/ 60.3 T (2) 265 (3) 247 THp (4) 18.2TFH
Tertiary sector’s share in Net Domestic Product in 2010-11 at 2004-05 price was :
(1) 603 percent (2) 26.5 percent (3) 24.7 percent (4) 18.2 percent

54. TRIEUH! DIV SR 37 GLEET W a7 7
(oY Wt e e wyrE B,
(bY” dmiawEs s ffad s
Ae)  STTETATAT {6 T A Pifvad s,

(9 <Sidid SaTeT e areavarg g 207
ENREEIR B R DRECE

(1) (a) 0T (b) (2)  (a) smivT (d) (3) W& (c) v(f)/ RG]

Which of the following policy is a part of food security ?
(a) strengthening public distribution system,
(b) to set nutrition related objectives.

(c) to decide minimum support prices for food grains.
(d) to promote domestic production.
Choose correct options

(1) (a) and (b) (2) (a) and (d) (3)  Only (¢) (4) All above
55, e:réwmmﬁzsﬁmz’mmm, A9 AT AT |
? RIS ISR CI D e — BTN
(1) 9rates 2) TEu®
(3) gara® (4) Taimes anifey TAE &

As the economy develops, the occupati
which of the following sector ?

(1) Primary . (2), Secondary
(3) Tertiary

e &1 ST / SPACE FOR ROUGH WORK
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6. TRl (T 3T :
(a) ﬁﬂmﬁﬂiﬁﬂﬂﬂﬁﬁﬁftﬁmtﬁw (NEMMp)mqamémwamaﬁfwﬁ#ﬂm ATz,

(b) PRET SIS $f% Fqhamfin oifty (sradte) sl e (FAME) 81 30 Jior are.
T S

(1) () BT TS fqem o,
(2) (b) B TSI faum o,
(3) (a) ST (b) T Frer g e,
8y (a) SR (b) A Rrer R o

Consider the following Statements :

(a) National Electric Mobility Mission Plan (NEMMP) aims at saving fuel and reducing carbon
emission.

(b) Faster Adoption and Manufacturing of (Hybrid) Electric Vehicles (FAME) is central scheme.
Answer options :

(1) only (a) is correct statement.

(2) only (b) is correct statement.

(3) (a) and (b) both are incorrect statements.

(4) (a) and (b) both are correct statements.

57. WM TIATET BITR, “IRd FaR i ffies’ s 78 TEIALIa HLvdrd STal.
(1) 1991 (2) 1994 (3) 2000 (4) 2005
Telephone department was transferred to Bharat Sanchar Nigam Ltd. in :

(1) 1991 (2) 1994 (3 2000 (4) 2005

58, GIRITI@! IV fae™ aRay aired ¢
YR A YheaTd § SgsT Ted
el AT HrET Sed AHGArE! SIS,
Mzﬁﬁ%ma(amwm%wwﬁr.

QT Sl
(1) (a) B aET e (2) (b) HH S &
3 (@) anor (b) Y T S @) (a) 3TRT (b) A T ST

Which of these are correct statements ?

The ‘Bharat Net’ Project aims at: "
(a) Linking Gram Panchayats through optical fibre network.

(b) Providing free network to the families in BPL category.

Answer options : .
(1) (a) only is correct (2) (b) only is correct

(3) Both (a) and (b) are correct (4) Neither (a) nor (b) are correct

—
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59. WU TR eIl J&I GHEIT BT ST 7
(a) & Rerrard wamh (b) Frgee oot
() faum faaw (d) Ted aATEH @
qqE I
(1) (a) W (2)  (a) @foT (b) Tk
(3) (a), (b) ani¥T (d) W ,(zf( Toda! T4
Which of the following are the major problems in Road-Transportation ?
(@) Slow-paced growth (b) Poor quality
(c) Uneven distribution (d) High cost of transport
Answer options :
(1) (a) only (2) (a) and (b) only
(3) (a), (b) and (d) only (4) All above
60. HRGHIAT UIANHY & @ed 3s :

Pt JIEqenla HeaHd Il TIeml.
ey aitie Tl (wiitient) farenfdd o,
G~ IR ST sy et Sirevil e,

)1/)/:( 3T (b) Bt (2) (b) 3R () wa

(3) (a) 3T () B 4) @D g4
Bharatmala Pariyojana focuses on :

(a) Optimization of efficiency in freight movement.

(b) Development of economic corridors.

(c) Improving coastal and port connectivity.

Answer options :

(1) (a) and (b) only (2) (b) and (c) only |
(3) (a) and (c) only (4) All of the above |

61. WEIAY] BV TIUH TRER e ?
(2" Towed AN AIa] 2015 HE o LU AT,
) e AT fator S A 3 it Wehediet SRS qraR S,

qqar <l -
(1) (a) %ad (2) (b) Wed
(3) () &foT (b) QIeerer el A (a) ST (b) A AT e

Which of the following statements are true ?
(a) Ujjwal Yojana was launched in November, 2015,
(b) It’s focus has been on billing and collection efficiency of DISCOMS.

Answer options :
(1) (a) only (2) (b) only
(3) Neither (a) nor (b) (4) Both (a) and (b) are correct

 —
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62. SISl okl
WY - ¥y @ -

(a) Tt () whered Rararardy o feremedf ater giver 2.
(b) ﬁm&(m) SV FEAFTETAET AT S q.

(© ¥ () qIovet e @ afrs SEdETor SuhH
qqray SO
(a)-(n). (b)-(m), (c)-()) K@) (a-(), (b)-(m), (©-(n)
(3)  (a)-(n), (b)-(l), (c)-(m) K@) (@)-(m), (b)-(), (c)-(m)
Match the columns:
Group - A Group - B
(@) NISHTHA ()  identify talented students to enrich their skills .
(b) DIKSHA (m) technology enabled platform for teaching and learning
(c) DHRUV (n) initiative for school heads for holistic advancement
Answer options : )
(1) (a)-(n), (b)-(m), (c)-(I) (2) (a)-(), (b)-(m), (c)-(n)
3) (a)-(n), (b)-(I), (c)-(m) (4) (a)-(m), (b)-(1), (c)-(n)
63. HIRATA HIGl WUl godid qaqad 4 Hel.
(1) ¥ 9ad (2) oTdEn /(3/ qi¥egd A (4) TTY UcsT
The Coal mining was first started in India in :
(1) Madhya Pradesh (2) Orissa (3) West Bengal (4) Andhra Pradesh
/
(f. )ty ot s e s

(%{ ATTCHTT T U Tt Sl e §9 2014 HEd HT.

@l Tl
(1) (a) e AT ST, J(Z)/(b)qﬁﬁaﬁa?ar%.
(3) (a) T (b) Y ATET BTe, (4)  (a) TR (b) el Yeh ST,

Which of the following is/are correct statement/s ? |
(a) Sagarmala Development Company Limited was incorporated in 2014.
(b) Projects under Sagarmala are implemented through Private or Public-Private Partnership (PPP)

mode,

Answer options : |
(1) only (a) is correct. (2) only (b) is correct.

(3) Both (a) and (b) are correct. (4) Both (a) and (b) are incorrect.

——
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T (2) ST (3) HTHITAT (4) UTEAH
Infrastructural development in India is not only urban-biased, but also shows a bias in favour of
(1)  poor (2) rich (3) workers (4) farmers

66. TS AR (2014) TER 2011-12 G Tifea Y eamedn Sl |rmErel < q T
ITETS! 3 qterg aXfeastt el shivama ST, .,ea/
(1) 47 enfvy 39 (2) 47 emfer 31 (3) 67 3T 32 ) 47 & 32
As per Rangrajan Committee (2014) the poverty line for 2011-12 was at< and <
per capita per day respectively for urban and rural areas.
(1) 47 and 39 (2) 47 and 31 (3) 67 and 32 (4) 47 and 32
Tl BT Ao ST T2 See™ia A o 3 Wam erifia an Semesa gt frwd 7
(1) &g 2) @R \,5)/ gl WigaT (4) Tqod
Which of the following bioproduct patent was challenged and India collected it again from the
USA ?
(1) Turmeric (2) Bitter gourd (3) Bottle gourd (4) Basil

68. U 2018 T SHFAHH TEaTw I HITAl Bl WA b &b Ao Wb ah Ta¢ TS
S~ THoedr.
(4l (2) 45 | ‘12')/ 3 (4) 68
The Oxfam report 2018 says that one percent richest people are generating percent National
Income in India.
(1) 50 (2) 45 (3) 73 (4) 68

69. WAIdUD! Hgh (I BV ?

Y I E A e S AWl Jev Wed B aX AWEAS [y
g SIRATT A,

T Yo Taavmige Srferatdd TaliereR dared a8 TEETe! Jaaummye el e SR
BT Bldl.

~3) HIRATT T Jael [aAauehideal TEHTe! [aaubiar el A .
4) UT@E YA AU & Bao [Ghasi Qe BraeeiR e,

Which of the following is a correct statement ?
(1) FDI helps to increase the productive capaf:ity of the economy while FPI leads to volatility.
(2) FDI leads to increased purchasing power in the economy whereas FPI benefits foreign share

market. | |
(3) FPlis more beneficial than FDI in India.

(4) FDILis beneficial for developing nations only.

R ROUGH WORK

1 T AT / SPACE e

h...:...hl.'i-!'r'.- b =

(% scanned with OKEN Scanner



www.byjusexamprep.com

c 23

70 a@aﬁmaﬂ'aﬁmé“ T TR A o fféee Ham.
" i (2) Tar ehdih
@y T W oy i et

The first two digits of Goods and Services Tax identification number specifies

(1) Product Code

(3) State Code (2) Service Code

(4) Country Code

E BYJU'S

S14
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71, I U< (<Y 1) SR & aqreeh et o,
(1) frafder Tt (2) SARA HAwal
(3) ST water (4) 9T HEATT
The Blue box subsidies are concerned with .
(1) Limit of export J21/Limit of production
(3) Limit of import (4) Child labour

—

72, W SR URSRE SifRgd Saiegd ST T, BTl SerHrdr JAraeT il ¢

9)/ Y29l GEfea we

(2) TR JAaUEhiauasd areT Gaid bad (TRIMS)
(3) HTURSEh ST ATARITTS AR HIT (GATT)
(4) QTS B

Which of the following clauses is a part of intellectual property rights in WTO ?

(1) Patent related clause
(2) Trade related investment measures (TRIMS)

(3) General agreement on tariff and trade
(4) Social clause

73. T AT 1973 1 HT HET TE B 1999 HE YUl HIvTe HIIQT HO[X hel ?
FRBM

(a) " IRDA (b) RERA () FEMA
T S b
(1) e (a) STIOT (b) (2) eI (c) TIIT (d)

(3) e (d) _)m/ hed (c)

Which of the following Act was passed by Govt. of India in 1999 after cancelling FERA, 1973 ?

(a) IRDA (b) RERA (c) FEMA

Answer options :
(1) Only (a) and (b)
(3) Only (d)

(2) Only (c) and (d)
(4)  Only (c)

FRBM

S
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74. QTSI Haheqaa @ield adiar e e
oy P Semmern moed @ seniey st
by it anfor wrerdy sevrid wltey amfard,

(o)A TE SEiNe e s
ey arerly ey B Wi @,
HYgH Ty st
) @ (b) (@) (o) e (o (3) () anfer (d) (4) e &d
Privatization concept includes :
(a) Transfer of ownership of public enterprises to private enterprises.
(b) Joint partnership of public and private enterprises.
(c) Selling of public enterprise assets.
(d) Transferring rights to private management.
Choose correct options :

(1) (a) and (b) (2) (b) and (c) (3) (c) and (d) (4) All above
75. A LEAR STab & YO S0 FHHIHTS STE.

(1) o= 2y gE=m (3) uftea (4) qrEE

The Indian telecommunication network is now in position in world.

(1) Third (2) Second (3) First (4) Fifth

76. ST of Ueh Sl Wishar STe SuTges :
(a) oTfie TdienTuna ST F@rar Ad
(b) anfder TIEsimar dred
7{::) driufisie SEvade a6 Bl
(d) enfie qrEEsiea ared

qardr T
7@_.) (a), (b) T (c) ) (b), (¢) & (d) Jzi/ (a), (b) T (d) ("’e/l,¢ (@), () T (d)

Globalization is a process of :

(a) deepening economic integration
(b) increasing economic npennes?

(c) increasing cross-border terrorism
(d) growing economic interdependence

tions :
3?”?573 and © (2 (G ©@and(d) @) (@ (®land(d) (4 (@) () and (d

i
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77. Wtﬁa AR SFhTEY (TRIPs) @Tefiet gerepien @aTEST Bldl
}a,}/ yfafedl sa<h
| R fae
7@) IRIERPCC Ty
AN DT T SRS AT Kot WT0), B o e 3t
i 2F W () 9T (0) (3 W (2) ST (O (4) ). ©) T O

Trade Related Intellectual Property Rights (TRIPs) covers following rights :
(a) Copyright

(b) Trademarks

(c) Agreement on agriculture

Which of the above rights introduced by WTO under TRIPs ?
(1) (a) only (2) (a)and () only (3) (a)and () only (4) (a) (b) and ()

el 7
(i) 6%d9%T67% (i) 5% I%9 55% (ili) 7% 967 77%

@mwmu&lﬁ%ﬁwmﬁmmﬂa (aw~w€)wﬁﬁ%ﬁgﬁamﬁm

Tl Sl

(1) (i) - F ) (i)

3) (i) @y it goad T
As a member of the WTO India increased its bound tariff lines from :

(i) 6% to 67% (i) 5% to 55% (ili) 7% to 77%

Answer options :

(1Y) . 41i) (2) (1)

(3) (i) (4) None of the above

MW%WWW

From which point of view of the following "WTO" is not beneficial to Indian Economy ?

(1) Cultural Development
(2) Tourism Development

(3) Political Development ;
(4) Trade Related Intellectual Property Rights (TRIP)

"\-.-______
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80. GATS URIEET HIT & a1 sl e ore.
3y Ryertem (2) w@rire & (1E2)
(3) wiafedt s (widide) 4y Tl el (ZEHH)
GATS deals with trade in .
(1) Services (2) Patent
(3) Copyright (4) Trademark

[§BYJUs -

C

81. Treamsie Jenean Hawta SRR TomeaT TefaTe Wi B gE a9 STed ¢
>ga) SFTEIR TS Jeel T T[aavs e fre @ 397 Aty WE duidrend e
RIGE

)b?/mﬁfﬁwaﬂgﬁ?aaﬁaﬁwmaﬁraéawmﬁm WX 7 HIAdT A He.

)ca/ ST T Wiehde faemamsie damde e @ 3 o,

(dy SR ST ETEEnT Siear yeemE 2.
U AT TAT B 7

7g) @), (b) ST () (2 (b), (d) a7ftT (q) R (@) (o) T (d) @ (@ )3T (d)

Which of the following points are apt. for developing nations in defense of globalization ?

(a)

(b) _Glnbalizatinn promotes modern technolo
It without investment in R and D.

(c)
(d) Globalization leads to faster d

Which are the correct answers ?

(1) (@ (b)and () (2) (b), (d)and (€ (3) (@), (c) and (d)

Globalization promotes FDI without forcing developing nations into international indebtedness.

gy and enables developing nations to make use of

Globalization has helped to reduce the poverty of nations in developing stagé

iffusion of knowledge among developing nations.

@) (), () and (d)

82. SITTIqe AR WEAY (WTO) Halted it o STTe.
(1) T g wea (2) wiriss wRwe
(3) wHETHHTH (4)  FEEERY Hew
The Supreme authority of WTO is .
(1) Dispute Settlement Body /(2/ Ministerial Conference
(3) Director General ,FH/ General Councjl

1 FTHTATE AR / SPACE FOR ROUGH WORK
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(3) ai.llf’c‘lﬁﬁ Bl et Recvereiier derien framafied frgad afsr . _

(4) ST fowre ¥ aeivaiis 7 erqreia d@araasd Afisr .

Special Drawing Rights (SDR) are :

(1) T?? I\;ll? hts to solve the problem of international liquidity regarding foreign exchange rese
of IMF.

(2) The rights regarding investment and foreign currency of IMF.

(3) = The rights regarding development funds of developing countries of world bank.

4) The rights regarding credit and international liquidity of IDA.

rves

;. @ﬁﬁﬂaﬁaﬁwﬁwsﬂmﬁmwmﬁmmgwﬁﬁﬁ@mﬁ@

(b) HTTER SHiehd hetell ATy a1/drefa-see dar fow.
WA ST ST WA & 4.
qgmal S
(1) &9 (a) /c/ %ad (b) &7 (@ e (d) (4) (b) ST (0)
Which of the following is/are not the objective of TRIMs (T rade Related Investment Measures) ?

(a) Promoting exports from the host country.

(b) Trademarks including service marks.

(c) Advancing economic and social policy goals.
(d) Technology transfer.

Answer options :
(1) Only (a)

85.
(1) ge& Faar AreHl G IRCAKY
42{ e ST el AT B
(3) [ marEEddr
TerdeT Tael el
Sl)d the foreign investors will be given same rights as the national investors in the
nder
matter of investment. |
(1) Trade Related Intellectual Property Rights
(2) Trade Related Investment Measures
(3) General Agreement ON Trade in Services
(4) None of these
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86. WICITIDh! BT THavan B arqreqifi aTTe ?
(1)  wrogig gy (2) P FET
(3) WS WEHS (4) @R Gl
Vih”:h Df following is the non-conventional source of energy ?
(3) Animal Dung (2) Agricultural Waste
(3)  Fuel Wood (4) Solar Energy
87. WY BT T 2018-19 7eY Heffftrar Teqer X 90,140 FY 3T SGST A Farerm &g ?
(1) _ SUECEIEY (2) AT 99T (3) ®HAREH /GP)/ Hellltx
‘ghich of Fhe following state received highest revenue ¥ 90,140 crores from SGST for 2018-19 ?
) Tamilnadu (2) UP (3) Karnataka (4) Maharashtra
88. WASHI% wHatar UV @i SR B
}/(;9// fbmr oy S o ey
RS ety T
qﬁ'&lﬁ:{ :
(1) (a) S (2) (b) ®e
| (3) (a), (b) 3mfy CRA|
Public debt affects on the following things : ) % }M; 0
(@) Price Lot B
Pt EE; IS:TE and Wealth Distribution
Answer options : | gl
(1 I
) (a) only (2)  (b) only 3) (@ (b)and (©) (4) All above
89. NN T2 WUy

2 TR ATl + Wisaeh W — wg @
SBY AT TAB G2+t T TR A
() wIEar g1l — wigaedt @t <

(d) e il —wegelt @ X
qaA S

(1) (a) %ad J}’f (@) 37T (b) (3L (b) wa (4) I o

Fiscal Deficit means

(a) Revenue Receipts + Capital Receipts — Total Expenditure

(b) Budget deficit + Government market borrowings and liabilitie
(c)  Capital Receipts — Capital Expenditure !
(d) Revenue Receipts — Revenue Expenditure

Answer options :

(1) (a) only (2) (a) and (b) (3)  (b) only

(4) Al above

<=1 HTHTATE @R / SPACE FOR ROUGH WORK
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gﬁmmﬁwmw

/(,} v e T e B,

(2) GTHITE AN
(3) ST U g2
The deficit financing leads to (4)  glete) wower e

(1) Rise in price level

loss
Declining out (2) Government faces
) . PRL (4) None of these

E BYJU'S

s14 .

(4) @Y TR Wisaw) e

Central Govt. Public expenditure classification is of following type after 1987-88.

(1) Defence expenditure and Civil expenditure

(2) Development and non-development expenditure
(3) Revenue and capital expenditure

(4) Current and capital expenditure

92.

@Eﬁﬁaﬁm@ﬁ‘aﬁ?—ﬁaﬂq@ﬁ & 7
(1) GI& (2) U=
(3) Tt ool Ly e gl

Which of the following is not Nc:n -development expenditure ?

(1) Defence (2) Police
(3) Interest payments (4) Medical facilities

93.

-lq.___l____

¥oET HIed U @relie (TGRSl he :
(a) TR geTae USd <€ el st
(b) e T TS gaed 1§ B,

(c) U i AaTD Hdl.

(d) gerda qeager HT drer
T4 Sl

1 a) hdd (2) (b) S _ s
I(<e)lkar( t)ask force committee recommended following recommendation :

be cancelled.
d deduction system should
EE)) Eiaer::triun on saving and interest should be cancelled.

() PAN number should be compulsory.

(d) Modified value added tax.

Answer options :
(1) (a) only (2) (b

(3) (a) (b) ST (c) \M RIRCIRE

only (3) (@ (b)and (c) (4) All above
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e @/1’02’55’099 i timates was Crore rypaq. |
Total Loan Liabilities of central government in 2019-20 budget E; (4) 509689 5,
(1) 1025599 (2) 10255099 (3) 97454
Lo
. FHIS T haT
95. W Wrdwitven wimen warard grany gRere e S e
(1) Wb 2) fea®
By T @) e T
Community Health centres are located at the level of Indian public health care Infrastructyr,
(1) Primary (2) Secondary
(3) Tertiary (4) None of the above
‘p 7 SIS 2019-20 HE) WET Haife el o Sk,

(1) ¥ Uy faar faaer suAr
(2) AT & YT

Is the major subsidy receiving sector in Maharashtra in 2019-20.
(1) Maharashtra State Electricity Distribution Company
(2) Incentives to industrial units

(3) Food grain distribution for Annapurna etc.

(4) Maharashtra State Road Transport Corporation

97. %WWWWWWWWWHH@

(1) e B 2w a

ol aaa AT it o

is not the major revenue source of State
Government whi
(1) . Share in Central Taxes i :;h comes from GOL
(3) Central Grants . o b vances
- se
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(a) WINIR Hat
(b) &A@
(c) TSTHINY g
. (d) eRYT g
@il S
L) (@ v @ ® o (3 athmh e
Which of the

following are the sources of public debt ?
(a) Market Loans

(b) Bonds
()|, Tremsury Rils (d) Temporary Advances
Answer options :
(1) (a) only (2) (b) and (¢) (3) None of these  (4) All above

99. 73 T ST 74 <Y TRATGHRN Had Heal ke el ?
(1). - 9] 1991 (2) SR 1991 /a/ fedaT 1992 (4) QYT 1993

When 73" and 74th Constitutional Amendments were passed by Parliament ?

(1) June 1991 (2) August 1991 (3) December 1992 (4) April 1993

100. T 2012 TAT PRSI STARTEAT YRS TRTHEI a1 E (T Ahaei st FHI 2009-10 HE

gach @il SATe.
(1) 19.8% (2) 2T 9% yj/ 29.8% (4) 45.0%
According to the press note issued by Planning Cnmmjssinn in March 2012, percent of population
living below poverty line has come down to into 2009-10.
(1) 19.8% (2} 21.9% (3) 29.8% (4) 45.0%

-00o0-
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